SN B2
a: NUHY AYUSH(LNIIYT /LB YY)
Shelr XTI Y ol el (B9 @2
= W Ofl &K & 0 oA =
SA - B ER(SH) - HRAY - BES iz T HRE2
2D 32,786,808 32,013,315 773,493
2 3,500
= 40,300
Al 32,743,008
Nes oryshUITYT /A a) 7,775,778 7,011,230 764,548
2 3,500
Al 7,772,278
N 9 o e 1,650,747 813,678 837,069
Mot MR E4 887,212 635,312 251,900
201 Yur2YHl 119,982 101,932 8,000
01 At el 119,982 101,932 18,000
=0 & 119,932 101,932 8,000
OBAZS U JEI#A Ha0t B
130,600 203! 2,612
OfI® =T HI} 19,800,0002! * 1] 19,800
ONR ASSZUs T2 X8
8,600,0002 *103] 86,000
O=23 207y 2L 2EBANLY 24|
960,000 +12% 11,520
202 Oft 22,080 22,080 0
01 2ol 22,080 22,080 0
=0 & 22,080 22,080 0
ORCH 2 25 S 3Y2H 22
60,0002 *4% 42 #123] 11,520
OAE M L 39 &4
60,0008 *4% x4 +113] 10,560
203 YREAY 50,000 42,000 8,000
03 AMETYLEZY 50,000 42,000 8,000
=0 & 50,000 42,000 8,000
ONZ = e 22 H2=3
7,000, 0008 *14] 7,000
Otz 250z USES RTX et
2 o X8 4,000,000 *14] 4,000
OYRFAES 98 8l9, 225, BA &
OiX 23 ¥ X 20,000, 000! *14! 20,000
OB (HE)=N 220 et 22 X
5,000, 0008 *14] 5,000
OYLEN QU2 SE 14,000,008 *14] 14,000
01 YHBAS 180,000 120,000 60,000
12 JIEtE 43 180,000 120,000 60,000
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SN B2
a: NUHY AYUSH(LNIIYT /LB YY)
Shelr XTI Y ol el (B9 @2
x s . O &t o8 & & 0] Ak o -
SA BB S (BH) - NEAMY - BES o o HlRE2
= 0l & 180,000 120,000 60,000
QI 22N 2SS =6 X
2 300, 000! 6002 180,000
303 EA3 515,200 349,300 165,900
01 Z&3 515,200 349,300 165,900
= 0l & 515,200 349,300 165,900
OZOIEWILAM AIAZ 1,000,008 22 2,000
OSRESYRSH MUAE 40,0008 *62L 24,800
ORIOI=CIAL BOF AIAE
3,300, 0008 *13] 3,300
ONY 2 2HSY 254 X
300,0002 %1,617% 485,100
seJ1=22 22 223,273 178,366 44,907
201 Yur2YHl 200,353 158,606 41,747
01 AtR2lY| 83,943 63,492 25,451
=0 & 83,943 63,492 25,451
SHIW BEMH & A5
2,160, 0008 *23] 4,320
OJl=22d IE 29 L MY S
450,000 *4% 33| 5,400
OZZEAH H2&)| 2agy o D8
20,000,000 *14! 20,000
OSNBELT S 88 7Yl
1,009, 0008 *43| 4,06
OJSSRd ALEX SAS 2YUI(A3
) 25,0002 *188 A 450
OWe L8 2= M= 900 +35+3,5000H 9,450
OSAM e +2l 900, 0002 *23! 1,800
OBLN X M=
16,2002 +702 *4%5 13l 4,536
LT 15,000, 00021 * 14! 15,000
OJI=RelAAL S/ ROHEX
18,500, 00021 * 14! 18,500
OREDOAAY SRV YIS
5,451,000 *13] 5,451
02 ZZ2YH| 111,410 95, 114 16,296
=0 & 111,410 95, 114 16,296
OZZTe3 % HA 92,903
—2HE 2523(SII)
2,1302+1,830E « 122 47,005
—9mHE ¥ER3(LY)
3302+9, 4545 + 122 37,438

_39_




SN B2
a: NUHY AYUSH(LNIIYT /LB YY)
Shelr XTI Y ol el (B9 @2
x s . O &t o8 & & 0] Ak o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
—8ts 2EE2 2523
5002 +470% * 122 8,460
OJIEReNAY RN L4 (GHEAO)
10,827,00021 * 14! 10,827
ONY =2sy 23 HHl2 23
80,0002 *83| 122 7,680
202 Oft 8,920 5,760 3, 160
01 =Uoibl 8,920 5,760 3,160
=0 & 8,920 5,760 3,160
OJl=gme 2e 18 2 o S
60,0002 *22! x2 #123] 2,880
OSHIY 2 2= 0iY]
20,0002 #1% +202 * 128 4,800
OJl=2 U 2oe B EF ot
20,0008 *2% 313l 1,240
207 TN ELHI 14,000 14,000 0
02 FAIHE Yl 14,000 14,000 0
=0 & 14,000 14,000 0
OEZINSR2ANALY SN S4H|
14,000, 00021 * 14! 14,000
Z2N 22X 2Y L WeAY Y3 517,106 0 517,106
101 eIyl 380,446 0 380,446
04 JIAM2ERSE4 380,446 0 380,446
=0 & 380,446 0 380,446
oJez 66,8008 20 x200 267,200
OFg4+g 66,8008 *202 x522! 69,472
SEL-E 336,672,000 *4. 5% 15,151
oY H 336,672,000%! 3. 12% 10,505
onge# 336,672,00021 *1.5% 5,051
QLT e & 336,672,000 *0.8% 2,694
ORIRYDH 5,051,0008+7.38% 373
OZ24 4 24 2|
10,000, 00021 * 14! 10,000
201 Yur2 Yyl 134,380 0 134,380
01 AtR 2| 134,380 0 134,380
=0 & 134,380 0 134,380
OZ2H QARG BH £
100,0002! +3 #123] 3,600
OZLE H2x7 S2HAY
8,000 +3% +102 +122 2,880
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SN ESD
a: NUHY AYUSH(LNIIYT /LB YY)
Shelr XTI Y ol el (B9 @2
x s . O &t o8 & & 0] Ak o -
SN BA(3H) - ARAMY - BES o o0 HRE2
OZ2d He oE &4 +g
100,0002! 5% +53] 2,500
0223 29 B2l ALEE 7
200,000 *123] 2,400
OZ2N A2s52 WY 1S
200, 000! *300% *23] 120,000
OZLE 4% DT YA 49
500,000 38 x23] 3,000
202 Oft 2,280 0 2,280
01 =0l 2,280 0 2,280
= 0 4t 2,280 0 2,280
OZ2X 942 gXt AOIL &4 oftl
60, 00021 x22 %22 #53] 1,200
O5% - T2 215 319 &4 oftl
60, 000! 323 x62 1,080
BN LA 25 X4 23,156 0 23,156
201 syl 15,936 0 15,936
01 At el 15,936 0 15,936
=0 4t 15,936 0 15,936
OBHDE 2 ZARY X2
350, 0002 * 123 4,200
OLABAR 85 A3s FHl
250,000 *15% *23] 7,500
OLAR DS 2A 45
500, 0002 %2 *23] 2,000
OSHYZ DE ANPEE 7
223,600 *103] 2,236
202 Oft 720 0 720
01 2ol 720 0 720
=0 & 720 0 720
O=2YL SLX AZL5 312 Ot
60, 00021 x22 %22 *33] 720
405 T&H S 6,500 0 6,500
0 TMUSEHSY 6,500 0 6,500
=0 &t 6,500 0 6,500
OZLASH ASA 23 TLHI(2ADI)
5,000, 00024 *1CH 5,000
OZLALH ARA 2B IUHI(TV)
1,500, 000021 *1CH 1,500
HU9 oz ZAY AANANAE 2 780,341 1,219,305 £.438,964
MARE N DALY 29 721,061 825,824 ~104,763
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A SR
B NP U (AU DU /ANE)
SR A0 2 SAQ QAIANAEH 29H9 (e &
SN BB S(BH) - MBAY - BaS (ggj) @(ijf;ﬁ% HRE2
201 B2 A 399,827 549,827 A 150,000
01 At 22|yl 399,827 549,827 A 150,000
= 0l & 399,827 549,827 A 150,000
OB ssddy 293 108,800
—EAUSAL(E DRA)
2,500,000 x4 x23| 20,000
—h2sdelds 1,200,000& 10X 12,000
—04deldd 12,000,000& =14 12,000
~ e NEZoW NeDS
4,000,000 x1H 4,000
— NESMHEE A 300,000& x150H 45,000
—4-5g 22N UR 100,000& *79H 23| 15,800
OH=NEE2R A DR
300,000& x20H *23| 12,000
O&A FAHAUSE s IS U= 270,000
— 47 228 45D
200,000& *40H *103] 80,000
—AH0elsn = 200,000 & *23% x103] 46,000
— &3 3 A=20¢ /E NS
200,000& *80H =4 3| 64,000
—AMNASRE 2LUF 2,500,000& *23| 5,000
—ANRESRE FSHFLG 1=
250,000& 300 13| 75,000
OSREUNE LMY 1,300
—Eg2A01Z) 400,000 *2H 2 0F*13] 800
— B2 AH1S) 250,000& *21 2 0k* 13| 500
OnNs=2g =& &Y S20 4|
8,000 x2H x4 x12& 768
OHAFZMEN WS 3,479,500 x23| 6,959
202 Ol 314,234 268,997 45,237
01 2L 3,720 2,640 1,080
= 0l & 3,720 2,640 1,080
Ons2dsg|o & 2 HE 3,240
- & 60,000 x2H 32 x63] 2,160
- 60,000 *2H 3 33| 1,080
OXNAHHLS WE2d 82
60,000& x2H x4 480
05 S%F& WEWY 310,514 266,357 44 157
= 0l & 310,514 266,357 44 157
OZ22& 1=0dl 310,514
— AR LM 10,000,000& x4 X 23| 80,000
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SN BRI
Ha: NUHY SYUSHLNIIYZ /YY)
S9l: Mo AY FAO QAAAY 2 (B9 @2
x s . O &t o8 & & 0] Ak o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
A EE RS 2,000,000 *15% 30,000
—MRH DR 10,264,00021 1% 10,264
~2AFE YDV 2D
9,000,0008 *1% 9,000
— SN DS 200,000% «20% *23] 8,000
- € ZRANSE 250,0002 *250% 62,500
— AT B 1,200, 000! *50% 60,000
—JIE RSl 350,000 * 1458 50,750
203 YL=YI 7,000 7,000 0
03 AHERYLEZY 7,000 7,000 0
=0 & 7,000 7,000 0
OYRFAES 98t 23 59, A5, o
NE-EES 7,000, 0008 #14] 7,000
oIl Lhal s 59,280 393,481 334,201
201 syl 43,970 47,570 ~3,600
01 AtR2lH| 43,970 47,570 A3,600
=0 & 43,970 47,570 A3,600
OA JIPE M= 1,0002 =4, 02504 x23] 8,050
ONLHENAN U ABH MH
10,0002 *4000H 23] 8,000
OQIASIRE &H £Z 100,0002 x5 *143] 7,000
OBRANE)E 23 14,0002 *300% 4,200
OUMNSY HREZ S2OHAI
8,000 +5% + 142 +122 6,720
OolsEE ME FHLY
100, 00021 *4% #53] 2,000
ONDER F& XY
400,000 * 102 2% 8,000
202 Oft 3,600 2,760 840
01 =Uoibl 3,600 2,760 840
= 0l & 3,600 2,760 840
0228 2ANLY BEHY
60,0002 %23 x42 %23 960
OZ28 SH X4 S 2SS
60,0002 %22 x32 #43] 1,440
OX=H olzipte] HLs 59 &4
60,0002 +2 *102 1,200
203 ALEIY| 3,000 3,000 0
03 ANHEAALEZY| 3,000 3,000 0
=0 & 3,000 3,000 0
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SN B2
HE: YT AYUSH(UUDIYT /AU HE)
S9l: SIS & FAO AAANAY 2Y (2@
x s . O &t o8 & & 0] Ak o -
SA B S(BH) - MEMY - BES 5 o8 et on BlRE2
OZz2y ¥ oAe Lo =7
3,000,000 *14} 3,000
403 XASHSKEZO0IH 8,710 5,800 2,910
02 BIIBSHHE =AY 8,710 5,800 2,910
= 0 4 8,710 5,800 2,910
OEZFEXNYANZBALAEY NXSH 223
8,710,000 *14] 8,710
2 A 23 1,260,006 1,080,886 209, 140
2 3,500
Al 1,256,526
2HDE WA 1,121,816 974,440 147,376
201 Yer2gyl 26,976 33,420 £6,444
01 At eyl 19,476 19,800 ~324
= 0l & 19,476 19,800 ~324
OUARTAl SEDEH Y2 S|
300,000 32! 53] 4,500
O2HRE =VS A8t 81 S 222 |
x 300, 0002 x23] 600
O3 LECANA CADE
4000002 %10 E Al 400
O2ADE A 600, 0008 *32! +53] 9,000
O2H LETA 28 IE ¥ S
70,0002 * 10H 0l XI +53! 3,500
OYEA 222 D& 22 FH X
1,476,0002 * 14! 1,476
02 2zl 7,500 13,620 A6,120
=0 4 7,500 3,620 A6,120
OZHEAY A2 253
7,500,0002 *13] 7,500
202 01t 851,840 754,420 97,420
01 2Hoidl 6,840 6,420 420
= 0 4 6,840 6,420 420
2R sL L =Tol
60,0002 +32 *32 *103] 5,400
O2ANBEA HES 2 ol
60,0002 25| * 122 1,440
03 22l 0| 176,000 136,000 40,000
= 0 4 176,000 136,000 40,000
OZ2ADE TABMN L 319 &4
4,000, 0002 *5% +67H Al 120,000
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SN B2
a: MUY AYUSHLNIIYT /LB YY)
Sl RME SARY 25 (B9 @2
x s . O &t o8 & & 0] Ak o -
SA B S(BH) - MEMY - BES Sz T BlRE2
SENFEINEEED.
4,000,000 *12 x43] 16,000
020198 S M A0 2E &It
2,000,000 *20% 40,000
04 = HI5Hoi bl 669,000 612,000 57,000
= 0 4 669,000 612,000 57,000
OZ28 AR+ 4,000,0002 *50% *13] 200,000
FOAM U Yool
4,000,000 *58 53] 100,000
OZ 2 BI04 1,800,002 *160% *13] 288,000
OZ28 2T+ 1,800,000%! +45% *13] 81,000
203 Y=Y 11,000 11,000 0
03 ARZHARETY 11,000 11,000 0
= 0] & 11,000 11,000 0
ORMEAY DREY B3 2=
11,000,00021 * 14! 11,000
01 Ypreaz 232,000 175,600 56,400
06 ©I2+oI= 2|0l 182,000 126,000 56,000
=0 4 182,000 126,000 56,000
OZHSA & 5lolas S0yl
4,000,000 *12 +33] 12,000
0223 22X HOe+
1,800,0002 +30% *13] 54,000
OAgI0l BOEls 2HDE S
4,000,000 *58 x33] 60,000
O2MDECA Zaze
4,000,000 *481 1] 16,000
020198 SAMHALBE B2ZS 2
22y S 2,000,0002 *20% 40,000
07 SABIEH O] 50,000 49,600 400
=0 4 50,000 49,600 400
o9y =8 | 500,000 10 *103] 50,000
2UHDE = 33, 120 31,356 1,764
201 Yur2YHl 3,600 3,276 324
01 At el 3,600 3,276 324
= 0 4 3,600 3,276 324
OZURE ALFF S2OH4Y]
8,000% +3% 82 « 122 2,304
OB HZ ZHISE S 324,0008 +43] 1,296
202 Oft| 2,520 1,080 1,440
01 2UHoiYl 2,520 1,080 1,440
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SN ERD
a: MUY AYUSHLNIIYT /LB YY)
ool RXE SAAY L (B9 @2
< - = Ofl &K & 0 oA =
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
=0l 2,520 1,080 1,440
2UDE L= oYl
60,0002 x2 +32 x75] 2,520
203 YL=HI 7,000 7,000 0
03 AMETYLEZY 7,000 7,000 0
= 0l & 7,000 7,000 0
OZUSAY DREE Z7 2=
7,000, 0008 *14] 7,000
01 YprEaz 20,000 20,000 0
07 ABIEHOY] 20,000 20,000 0
=04 20,000 20,000 0
oolel =3 ol 250,000% %202 %43 20,000
PEEPSEL 33,090 38,090 0
201 Yur2YHl 24,530 24,530 0
01 AR 2lH| 18,530 8,530 0
=00 & 18,530 18,530 0
OJNEANSEE T 120,000 1 +128 1,440
ONSASRA 29 2 24 UXE
900,000 +122 10,800
Oet TRlf €4 BA  250,0002 +10H*32 750
ONESASRL 2% S2HAL
8,0002! 1% +152 +12% 1,440
OYR+¥S 2Is I U0
205,000 203! 4,100
02 Zz2Hl 6.000 6,000 0
=004 6,000 6,000 0
O%42% Tz (el S)
500,000 128 6,000
202 Oft| 4,560 4,560 0
01 2ol 4,560 4,560 0
=0 4,560 4,560 0
Oolge 423 25 ol
60,0002 * 12 +33] » 122 2,160
OJlZYgRss 53 oYl
20,0002 %12 « 102 128 2,400
203 YRETY 3,000 3,000 0
03 AHZZHLFZY] 3,000 3,000 0
=0 3,000 3,000 0
OEg2H 28 2 NHELY YL
3,000, 0008 *14] 3,000
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SN B2
a: MUY AYUSHLNIIYT /LB YY)
Sl RME SARY 25 (B9 @2
x s . O &t o8 & & 0] Ak o -
SA B S(BH) - MEMY - BES iz T BlRE2
207 AT 20,000 0 20,000
01 elmE 20,000 0 20,000
= 0 & 20,000 0 20,000
OZ=DE A 89 20,000,0008 «14] 20,000
306 &3 40,000 0 40,000
01 &3 40,000 0 40,000
= 0] & 40,000 0 40,000
OFYCod=DREos £33
40,000,000 *13] 40,000
SM=T 0F 5 3,896,283 3,738,041 158,242
M=% HE 29 3,578, 156 3,433,041 145,115
201 Yur2 Yl 3,366, 156 3,250,081 116,075
01 At el 289,656 327,581 A37,925
=0 4 289,656 327,581 A37,905
OXES =X U ZLASH Y2FT 2
A 8,000 +2% + 182 +122 3,456
OSMSXNYLEN TRIE EH 7Y
10,0002 +1CH* 122 1,200
OX® AL AW HIS 300,000 9502 285,000
03 A2 45,000 20,000 25,000
=0 4 45,000 20,000 25,000
OXAB S A X & 15,0002 *1,000% 15,000
OSXAI Z28 E70a ZH)
30,000, 000! *141 30,000
04 LES=TIHE IS 3,031,500 2,902,500 129,000
= 0 4 3,031,500 2,902,500 129,000
OLEY SN (SXE4)
1,005,0008 +2,350% 2,361,750
OXEE SN (SHH 2
285,000% *2,350% 669,750
307 9I2H0IH 210,000 180,000 30,000
07 HBNS3 210,000 180,000 30,000
= 0l & 210,000 180,000 30,000
OZLE & MY £913
3,500,000 *60% 210,000
309 ®E3 2,000 2,000 0
02 BRAASADUALHES 2,000 2,000 0
=0 4 2,000 2,000 0
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,000,000& =14l

Oelold X&

305,000

13,127

5,000

133

428 Je

5,133,000& =14
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5,000

133

12,994

12,994

02

M0

11

Mo

Tl
15,000& »300&A

2 2y

1,608,800 5l

12,994
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8,494
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300,000

300,000
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188,381

189,320

A 939

188,381

189,320

A 939

162,941

169,880

A 6,939

X &
300,000,000& *12
S22 2

250,000& 31
250,000 » 18

H A
s4o 2l

414,100& 102/

S H =yl
27,0002 x1005

60,0003 *4% »365
60,000 x4 119
90,000& x5&*23|

S(sol, &8I, +2H )

90,0008 * 128

o e 28 7¢

598,500& =128
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4,141
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116, 160
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SN ERD
a: NUHY AYUSH(LNIIYT/LBYY)
Sl A NI® Y 2ol (B9 @2
x s . O &t o8 & & 0] Ak o -
SA B S(BH) - MEMY - BES Sz T BlRE2
O A35l28 EIIHIE +44|
72000094 %274 1,440
Oo® #AE 32,2 2|
270,000 *122 3,240
OBANE SR HE 6,00021 54) 43| 1,296
OF&4 o FAM BABYIE 485 7
d 90,0002 *27H *45| *122 8,640
OBAE I 2l 50,0002 «2Z+184 1,800
HAKR F2ET A
8,000 +2% *112 *12% 2,112
202 Oft| 1,440 1,440 0
01 =Uhoitl 1,440 1,440 0
=0 & 1,440 1,440 0
OA & o/F X2 &4 ol
20,0008 *2% +32 +122 1,440
303 Za3 24,000 18,000 6,000
01 ZaZ3 24,000 18,000 6,000
=0 & 24,000 18,000 6,000
OB o YUEAR IS E
300,000 0% 24,000
NS Y DS (LHTIYT /Lo y) 1,306,030 1,086,420 219,610
= 40,300
Al 1,265,730
=NEEEL 458,923 408,604 50,319
= 11,500
Al 447,423
20 D% 2% 22 (05T, THMEH) 229,083 211,898 {7,185
201 Qg2 26,520 15,000 1,520
01 AtRE2lY| 26,500 15,000 11,520
=0 & 26,520 15,000 1,520
OOISH ARER fics RN
15,0002 %1,000% 15,000
OolsZeissl Baslo Ha 4+
20,0008 *48% *123] 11,520
01 YprEaz 111,563 100,898 0,665
02 IAIYSKI 40,000 40,000 0
=0 & 40,000 40,000 0
OOISE XA X2 500,0002 «40% +23] 40,000
09 BAAHIEAS 47,563 60,898 A13,335
=0 & 47,563 60,898 ~13,335
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2N B2
Ha: XD (LNDDY /AU )
ool BOBIDE CERE
x s . O &t o8 & & 0] Ak o -
SN (SA) - HEMY - BES 2 = ol (713 o) Hns2
OFGMOIS XIS RTHE &40 24
50,0008 %502 13l 2,500
OFIMOIS XSRS &40 24
10,0002 412 *13] 4,100
OMOISNER HEAL AS LA (HEA
& 5) 50,0002 *50% x22 +13] 5,000
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